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Me =0

s: = sf + s; . . . . . . . . . .(7-2)
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1 1
2 2

3 2
4 3
5 4

6 5
1 6
8 8
9 9

10 I Q

N = 10 xx= 50

X2 Y2 XY

2 1 4 2
3 4 9 6
2 4 4 4
5 9 2 5 1 5
5 16 25 2 0
I 2 5 4 9 35
ii 3 6 25 3 0
6 6 4 3 6 4 8
1 8 1 4 9 6 3
8 loo 6 4 8 0

IZY  = 50 xx2 = 340 EY2 = 290 z XY = 303

lO(303)  - (50)(50)

J [ lo(m)  - (50)~  I[ lo(m)  - (soy J

5 3 0
J (900)(400)

5 3 0
6 0 0

0.883
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2rrt,  = -Pxy.PP
1 + (2 - l)rnv

,.........  (7-7)
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104

= II  2 - (SO x 40)/20 = 0.594

J(142 - 50’/20)  (104 - 40’/20)

= 2 x 0.594 = 1.188_ = 0.745
1 + 0.594 I .594
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r,,  = 4r.,bSj.lSh  St ( 7 - 1 0 )
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I 1

6 36

2 4

7 49

4 16

2 4

5 25

3 9

6 36

4 16

7 49

5 25

6 36

4 16

3 9

4 16

3 9

8 64

5 25

5 25

90 470

= 1.10 - 0.25 = 0.85

= 23.50 - 20.25 = 3.25

Tll  =
, _ 0.85

3.25
= 1 - 0.262 = 0.738
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n= sf - z s’
n - l S:

. . . . . . . . . . ( 7 - 1 3 )
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II s: ~ z pq

I-,,  =
n - 1 2

v&l r,, =Y *(l-$1 (7-15)

St

= ;& ( 1 - V(;s’x)q (7-17)
x
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1 1 1 1 0 1 1 5

2 0 1 1 0 0 1 3

3 1 0 1 1 0 0 3

4 1 1 0 1 1 1 5

5 1 1 1 1 0 0 4

6 0 1 0 0 1 0 2

7 1 1 0 1 1 0 4

8 1 1 0 1 0 1 4

9 1 1 1 1 1 1 b

1 0 1 1 1 1 1 1 6

P .8 .9 .6 .7 .6 .6

9 .2 .l .4 .3 .4 .4

P9 .16 49 .24 .21 .24 24

1 2 3 4 5 6

nLllUU

‘1au

= 1.18

= 42 N = 10 ?? = 4.2 n=6

= 192
192= __ -10 (4.2)* = 19.20 - 17.64 = 1.56
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KR 20 : rt, = & [l-y]
x

= 4(1-+$)

= 0.29

KR 21 : rtr =

St = 1.56 x = 4.2 n=6

= 6 (1.56 - 1.26)
5 - 1.56

= 0.23
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2 SSBPC  = SSB  t ssw
. . . (7-20)
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1 ax 2 1 Master N o n - M a s t e r  / TdOl

P, = .66 + .16

= .82

PC =  (.80)  (.70)  +  (.20)  (.30)

zz .62

K = (.82  - .62) / (1 - .62)

= .53
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